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« MySQL/MariaDB

* MongoDB(NoSQL)

« TinyDB(NoSQL)

« Microsoft SQL Server(&-&)
« Oracle Database(&&)

« SQLite
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In [1]:

import sqlited
conn = sqlited.connect('student.db')
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In [3]:

# SQL=
# name(018), no(B1=), addr(Z=2), gender (&
sgl = """
CREATE TABLE student
(

name text,

no integer,

addr text,

gender text

)
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2 )

# HOI=S MA5HD]

¢ = conn.cursor () # Connetion ZHXIE
c.execute("DROP TABLE IF EXISTS student") # studentJl U
c.execute(sql) # HOIZ 4.
c.close()
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In [4]:

sql =
INSERT INTO student VALUES

('SFMTT 1, A2 2R LR_S", 'male')
¢ = conn.cursor () # 24 A4
c.execute(sql)
c.close()
conn.commit()
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In [5]:

sql = 'select * from student'
¢ = conn.cursor ()
c.execute(sql)

# otL2l OI0IH
print(c.fetchone())

( |

Joh

P11, TS 2E

4
ue

="', 'male')

06 of2{7lie| Cio]E{E 21 O]

Z32|5l| H7|

« SQLO| HIO|E{ 7t E0{& At2|of 72 E@10 LtE0| S If HIO|HE E+= &4
o HOIHE BEA 8 2 2|2 E EIY FEHQ| H|O|E{0{OF BiCt,
« executet StLFC| OJ|O|E, executemanyS O| 83} Ct=0| H|O|HE 3T 4= JUZ.

In [6]:

Sql - muon

INSERT INTO student VALUES
(?, 7,72, 7?)

¢ = conn.cursor () # 24Xl Mo
c.execute(sql, ('stad2', 2, "oF2F' " 'female'))
data = [
('SHAH3' 3, 'AIIE, 'female'),
('Sta4' 4, 'E=H', 'female'),
('&M5' 5 'R, 'male')

c.executemany(sqgl, data)
c.close()
conn.commit()
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In [8]:

sql = 'select x from student'
¢ = conn.cursor()
c.execute(sql)

for s in c.fetchmany(10):
print(s)
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